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No.27 0 2 0 0 2
No.28 2 7 1 0 7 1 1
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No.1. No.2 3 1.592 1.044 2 2
No.3 5 0.796 1.024
No.3 5 1.592 1.064 3 3
No.2 1 0.398 0.1
No.6 6 2.28 0.157
No.4 3 1.14 0.08
No.5 6 2.28 0.157
No.7 0 1.008
No.6 6 2.28 0.157
No.12 7 7 1 2 0.5 3.813 0.16 10
No.8 1 2 0 1.193 2 1 5 1
No.9 14 7 0
No.10 3 3 0 0
No.11 1 1 0.431 0 10
No.13 1 0 1.066
No.14 1 1 0 0.602 1 1
No.15 1 1 1 1 1 0.5 0.5 0.5 0.811 0
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No.28 1 1 0 0.602 1 1
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No.2

No.6 4 7

No.4

No.5 4

No.7

No.6 4 7

No.12

No.8 3

No.9

No.10 1

No.11

No.13

No.14

No.15 0.5 0.5

No.16. No.17 2
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No.25 3
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No.26 1
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No.28
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At 1 1 2 16 20 34

H#%% h/H

HERREAHE 1.0 1.0 2.0 16.0 20.0 34.0




